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Instructions for Candidates
1.

Write your Roll No. on the top immediately on receipt
of this question paper.

Attempt any five questions.

All questions carry equal marks.

Use of simple calculator is allowed.

Answers may be written either in English or Hindi;
but the same medium should be used throughout the
Paper. '
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(a) Maria can read 20 pages of economics book in ap
hour. She can also read 50 pages of sociology
"book in an hour. She spends 5 hours per day
studying. (6)
(i) Draw Maria’s production'possibilities
frontier for reading economics and. sociology.
‘(i‘i) What is Maria’s opportunity cost of reading

100 pages of sociology? '

(b) “Trade can make everyone better off”. Give

(4)

example to prove it.

(b) Explain the trade-off between inflation and

unemployment.

(¢) Explain the concept of “invisible hand”. @)
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(a) A price change causes the quantity demanded of
a good to decrease by 30 percent, while the total
revenue of that good increases by 15 percent. Is
the demand curve elastic or inelastic? Explain.

| , | (6)

(b) Suppose that business travellers and' vacationers
have the following demand for airline tickets from
New York to Boston:

Business | Vacationers
Price | Quantity demand | Quantity demand -
- No. of Tickets No. of Tickets

150 2100 tickets 1000 tickets
200 2000 800
250 1900 | 600
300 | . 1800 400

(i) As the price of tickets rises from $200 to
$250, what is the price elasticity of demand
for (i) business travellers and (ii)
vacationers? (Use the midpoint method in
your calculations.) - (6,2)
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(i) Why might vacationers have a differep
clasticity from business travellers? (9

(¢) Explain the cross-price elasticity with an example
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(2) Draw a supply-and-demand diagram with a tax on
the sale of a good. Show the deadwelght loss.

Show the tax revenue. : (6)

(b) “An increase in the demand for notébooks raises
the quantity of notebooks demanded but not the
quantity supplied.” Is this statement true or false?

Explain. (6)

(c) State whether each of theif(‘)llowing statements 1S
true or false and why. Explain your answers.

(i) “All Giffen goods are inferior goods.”

(ii) “All inferior goods are Giffen goods.”
, : 6
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rice ceiling and price floor affect

&4 (2) Show how the p
(6)

the market outcomes?
a good affect the price paid
d by sellers, and the
)

(b) How does 2 ax on
by buyers. the price receive

guantify s sold? Explain with oraph

(c) What 1is tariff and describe its economic effects?
‘ , ‘ | (4)
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5. (a) Show consumer and producef surplus with the h@;l;

of diagram.
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(b) Melissa buys an iPhone for $240 and gets
consumer surplus of $160,

(1) What is her willingness to pay? (2)

(i) If she had bought the iPhone on sale for
$180, what would her consumer surplus
have been? " (4)

(i1) If the price of an iPhone were $500, what
would her consumer surplus have been?
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. (a) Define public goods and common resources with
| (6

(6)

examples?

(b) Explain the free rider problem.
ing

(6).

(¢) Explain the positive and negative externality us

diagram.
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7. ' (a) Show conditions for consumer equilibrium though
Indifference curve? @)

(c) Show the de'compésition of price effect into income
and substitution effect in case of normal good?

| (10)
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8. Write a short note on the following : 5
’ ls

(a) “Any Gain by the winner must harm the loser-" ©
this statement true or false? (6)
(b) “Tragedy of Commons”. (g
‘ 6

(c) “The Coase Theorem?”,
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